N RNA
PLAYGROUNDS

designed for sustainable and creative play

N3420U

N3420

IA
w
]
o

EN 1176}

u

=l

02-06-2023 / Rev.: B



2100

1240

\
M“ //f—Maxkg/cm Hw

«Q

997

= Hl o

381

771

\#19

5069

3103

a
/

51x3,1x12m  ~87kg ~0,08 P @10/12x210cm 19 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3420U

N3420

RS00686

RS00687

RS00685

D11225

Parts List

QTY PART NO DESCRIP.

D11225 @160x1870 mm

RS00685 2100/120

RS00686 @100/120

alalalialyg

RS00687 @100-120




N3420U

N3420

o o
S5 S
(o))
5 b:ﬂ‘ “:q Iloll
(90)
NG
N~
< @\\;mg
o o ~
[to} 3 ~
0 » Tp]
~ -~ (‘()
1552
0

1552




N3420U

N3420

A LE15910

L1102 L1103

L1101 L1101

LE15901

LE16599 RS00687
D11225
LE16021 @L‘\\\\\
RS00686 LE16556
LE16167 | E16008
Parts List
QTY | PARTNO DESCRIP.
1 D11225 @160x1870 mm
4 L1101 M16 sleeve nut
2 L1102 M16 Threaded rod
2 L1103 @37mm
2 LE15901 3x16, PH R
1 LE15910 Name tag S00685
4 LE16021 M12x110 mm
4 LE16098 M12x1,25mm nut
4 LE16167 M12 - @32 mm
4 LE16556 @42/38mm
1 LE16599 Sealtite 970 1,5ml
1 RS00685 @100/120
1 RS00686 @100/120
1 RS00687 @100-120




